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IS, e BT 100.0 0.0 20.0 60.0 20.0 0.0 0.0 0.0 0.0 0.0
O—— A v 13 0 1 7 0 0 2 0 0 0
e | IR, SR B A0 0.0 30.8 53.8 0.0 0.0 15.4 0.0 0.0 0.0
L3 e 6 0 2 4 0 0 0 0 0 0
o IR, By —Ease 100.0 0.0 33.3 66.7 0.0 0.0 0.0 0.0 0.0 0.0
L i R, 4 1 1 0 1 1 0 0 0 0
5 AEIE B —E A%, RS 100.0 25.0 25.0 0.0 25.0 25.0 0.0 0.0 0.0 0.0
S PR 7 0 2 2 0 3 0 0 0 0
# AE 100.0 0.0 28.6 28.6 0.0 42.9 0.0 0.0 0.0 0.0
N 35 1 7 13 7 2 1 0 0 1
BT, ft 100.0 2.9 20.0 37.1 20.0 5.7 11.4 0.0 0.0 2.9
e (] A 1 0 0 0 0 0 i 0 0 0
BEy ek (R E) 100.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
o 1 0 1 0 0 0 0 0 0 0
- e < L e
YoERRERILRR) 100.0 0.0, 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
H—b R (FRERR - EE IR 0 0 0 0 0 0 0 0 0 0
) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e e 3 0 0 0 1 2 0 0 0 0
P AR (R A% 100.0 0.0 0.0 0.0 333 667 0.0 0.0 0.0 0.0
e e 11 0 2 4 1 3 1 0 0 0
FoEAR(EOMOT A0 0.0 182 364 9.1 273 9.1 0.0 0.0 0.0
; 7 0 0 1 1 3 2 0 0 0
N AT
B (SN OEFR) 100.0 0.0 0.0 14.3 14.3 42.9 28.6 0.0 0.0 0.0
S 1 2 0 2 0 0 0 0 0 0
YA = \-‘-\b A Ny
YRR R 100.0 50.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
. R 17 0 3 11 0 2 1 0 0 0
IN—] ~ =7
Sobo A= TR 100.0 00  17.6  64.7 0.0 118 5.9 0.0 0.0 0.0
senp 0 0 0 0 0 0 0 0 0 0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 0 0 0 0 0 0 0 0 0 0
&5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I . 0 0 0 0 0 0 0 0 0 0
HEREE - 5 Pl
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1=3YN
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H 1 1 3 4 6 1 1
=4 LN LN IN IN
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! { * Wi 3 4 6 9 55§ o
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100.0 2.6 18.9 38.2 15.0 16.3 8.2 0.0 0.0 0.9
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KBRHTAN (L X e [X - P X))
100.0 2.3 20.7 43.7 20.7 10.3 1.1 0.0 0.0 1.1
KBTI (18 5 X - R FEFFX R 19 0 6 9 2 2 0 0 0 0
X)) 100.0 0.0 31.6 47.4 10.5 10.5 0.0 0.0 0.0 0.0
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P 100.0 2.5 23.8 43.8 13.8 12.5 2.5 0.0 0.0 1.3
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- 10 0 0 0 0 1 9 0 0 0
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2o 7 2 1 0 0 0 4 0 0 0
100.0 28.6 14.3 0.0 0.0 0.0 57.1 0.0 0.0 0.0
B2 [ A T 9 6 0 3 0 0 0 0 0 0
100.0 66.7 0.0 33.3 0.0 0.0 0.0 0.0 0.0 0.0
. 47 0 20 17 4 6 0 0 0 0
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7 100.0 0.0 42.6 36.2 8.5 12.8 0.0 0.0 0.0 0.0
70 0 13 43 11 2 0 0 0 1
e | 15~3043 AT
13'2 100.0 0.0 18.6 61.4 15.7 2.9 0.0 0.0 0.0 1.4
£
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